Unit 1 Review

Nafne: ICH\ SWET V—Q\{ Period: Date:

identify the fotiowing characteristics as either QUALITATIVE or QUANTITATIVE.

% 1. Amount of water inapool - (o e wmeasurect v 3“'“’““5

6 2. Length of hair on a person’s head A. Qualitative

A 8. Quantitative
3, Color of hair

% 4, The time an astronaut spends in space

A 5. The type of fabric used to reupholster a couch
A

r——

6. The softness of a tissue

For each of the scenarios identify the variables as either INDEPENDENT or DEPENDENT.

Karen constantly tatked on the phone and texted way more than the average person. It seemed she was constantly
grounded at the end of the month because her father was upset with the wireless bill.

E’ 7. Her fathet’s mood - W?U\AS v Wous  watcht gsha ‘\"—\L%/ side a( lo:“

A 8. The time she spent on the phone A. Independent

% 9. The size of the bill = Depends on haws wsie
she, Aells

B. Dependent

Greg was having a difficult time getting his drives to go more than 80 yards. His friends would give him several tips to
improve the length of his drive, but nothing seemed to work. He changed the spacing of his feet, the speed of his swing,
and type of ball. He finally broke down and started to take fessons where his instructor showed him how to properly set
up his backswing. Finally he started to see results.

b 10. Type of ball
A. independent

1. Spacing of his feet B. Dependent

A1
% 12, Distance of his drive

P‘ 13. His backswing



Read the following scenario and answer questions 14 - 20.
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Charles was walking by a construction zone and noticed a cinder block (a big brick) and an empty lunch pail fall
from the second story. He thought it was strange that they fell side by side the entire way to the ground. He
thought that since the block had more mass it would fall faster. This made him wonder if mass had

anything to do with how fast something fell. He thought about it for a while and figured out a way 1o get an
answer. He went home and got an emply container, metal peliets, a stop watch, a letter scale, and a tape
measure. He marked a distance of two meters on the wall and added a few pellets to the container. After he
determined the mass of the contalner and recorded it using the postage scale, he held the container up to the
mark and dropped it at the same time that he started the stop watch. When the container hit the ground he
stopped the timer and recorded the time in a table. He felt that he needed additional trials because his
measurement wasn’t extremely precise so he repeated the same test two more times., Then he added several
more pellets, recorded its mass and repeated the test three more times for the new mass. He changed the mass
and repeated the test a total of 10 times. Looking at the numbers he still bad a difficult time determining if
there was a refationship. He decided to graph the data he collected. After he graphed the data he felt confident
he knew the answer and he went and shared his ideas with his physics teacher because PHYSICS ROCKS! He
explained what he was thinking and how he acquired the data. He also shared the graphs he was able to make
using the data. His physics teacher looked over his results and explained that his answer was correct. Charles
then exclaimed, “This is the most rewarding experience ever! This even beats the time | ran 90 yards to return a
kickoff for the touchdown in the state championship.”

14. Which of the sections best showed Charles stated his conclusion? A Lines a-d
15. Which of the sections best showed Charles formulated and objectively tested a B. Lines e
hypothesis? C. Linesln

16. Which of the sections best showed Charles interpreted his resuits? D. Llinesn-p
E. Linesp-r

17. Which of the sections best showed Charles made observations that lead to a
guestion?

Use the passage above to answer the following questions

18. Which of the following variables was Charles’ independent variabla? -

a. Time
b. Height

@ Mass

d. Type of pellets

19. Which of the following variables was Charles’ dependent variable?

@ Time
b, Height
c. Mass

d. Type of pellets

20. Which of the following is NOT a quantitative variable?

a, Time
b. Height
¢. Mass

Type of peliets



Determine the measurement represented in each diagram with proper significant figures,
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In each of the following grougs of numbers circle the number that is the most precise.

25. Groupl 26. Group2
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27. Determine the accuracy of 23.14 when compared to the accepted value of 21.92 by finding the percent errof.
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Write the following numbers in scientific notation. Record each vatue with THREE S )

2,8 K u:>“l w1

i

wlo
28.  00000p3Adkg = BHUX W ke 29.  32539,01m

Take the following numbers out of scientific natation.

30.  231x10%g =__ 0.00023| « 31, 1456x10°nm =__\HMSCOCC nm

-

Complete the following math probiems using proper significant figures. Explain the reasoning behind your answer,

_t_-)_,gi @ s ‘55'3 Qtﬁs. cke.(.\u\d o\n.Jr(u-L
2. g5t SR . # of %’ic\}. ‘:’(33.

33, 14.25+132.2= 14L.d<S Q Al bron o G ‘;.c:\.ﬂ?cnaLan
- Y pmci'sr:?ﬂ 593444. Coctovs

Perform the following conversions and SHOW ALL WORK inciuding the KHDBDCM work if used. Leave all answers in
THREE SIGNIFICANT FIGURES

Y
32, 245am= LSLEA " mites

%

V| oom b bm | My TR
5 A e SN =\, X 10 wA S
45 e T e X ot e X T em o0

o
35, 7.25x10%nm=_ &S RO -

'y
'l.?;;’xio"\ixmx = 7.1S X\D” b



Title and label the graph below. Plot the following data and determine the equation. Answer the remaining
guestions based on the data,

Time | Position| Ya | Ya
(s) (m) |. 10 : /x Y 10
0.05 9.25 o 10 Azs P
007 | 811 9 1.5 18.U 9 ==
0.0 | 725 = o (15 _
015 | 658 8 Wl 5B 8 ==
0.20 | 6.25 , 5 615 =22
0.25 | 6.05 LY 7 ~
035 | 5.82 6 72 S.BL BT
0.50 | 5.5 A XS SE:
0.75 | 552 5 H (L35 {552 s _
1.00 | 545 6 025 05 075 1] { (54§ 0 5 10 15 20
oy L
M= OHXK ‘{ =W * ¥ b
36. Slope: 0.2 TR T \{zo.'l('!i\“'b
37. Y-Intercept: __ S.2F Yo% ..L.\ R
_azs-sas  (os02(
38. Mathematical Expression: __\| = 0.2 (_ %\* Ss iy oran e o3
- ' (LO5F 0.5+
- -.%
Y=0.2 ({:X-\r S-,LS‘ Y‘ﬂ: Oz(-l&)-fs.zs
39. At what time wi'|l the objectbeat15m? 5= .2 (&\ 3 §8 Y= 0_2_(]-2-) iy
@ \
40. Where would the obiect be at 2 seconds? 1S - S'.'?.S 0’1*‘(*‘) Y-.:.S",%S‘M
(535 o Adseerly
02 0.2
_ o4
41, Complete the following table H8.75= %
X= 0.0\ 5
Time Position
s) (m)
0.06 2.5
0.17 o.U5
0.4 6.10
00| 20.21




Review Unit II: One Dimensional Motion

LEN

Name: Period: Date:
Position (m} o
Define the following terms.
50 7
1. Distance \ A 40 ’] \‘
The Yobe ‘
wvered \9\(3&«\. A PP 30| If A
2. Displacement . 20 4
Thi daoman o(x G o\:’icc}-f s 0 -
POt . A y
B, © )
3. Speed Ti
The Arstoace an o\a\u‘\" }x ‘I é‘% = e {8)
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K vt ¥ «
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Use the graph above to answer questions 5-15, Pay attention to the scale of the x and y axis. Show all work! Leave

all calculated answers in 3 significant figures.
5. What is the initial position of object A and B?
ZOom
~2S A

A

B:

6. What is the total distance traveled by object A
between 0 and 75 seconds?
Lekt B0 we

Leld 20 we
fiﬁ}&¥ BO

~ 7. What is the total distance trav.e!ed by cbject B
hetween 0 and 75 seconds?

v B0 LS wm -
v WS e r DM
L GOm '

8. What is the displacement of object 8 between O
and 50 seconds?

A =Xg ~Xj
m\b%ﬁ(ﬁZS»D

~ DR A

9. What is the displacement of cbject A between
10 and 60 seconds?

Ah =Yg -~
2% 7 [Dw - 3D w
ox « ~10.0

e

10. What is the average velocity of object A
between 10 and 50 seconds?

= 8%  Xe-Ki = -20m=30m
VT T e
- =EDm

11. What is the average veloTit
between 10 and 75 seconds?

_ Xg X S-S
e ~ 7 &Ss

=

12. What s the average speed of object B between

0 agld 50 seconds?
_ distonce. \'3S'M AL
o= Eime * Tgos (2710 [ S



13. What is the average speed of object A between

35 and 60 seconds? _
_ dislancg  SOwm
5= Fwal T g s T 2.00 W‘*S

14. What is the instantaneous velocity of object B

at 45 seconds?
. VISR . AT
Yy

15. What is the instantaneous velocity of object A
at 55 seconds?
¥R Z0mM

v= AN = -lD%

Use the number line below to answer questions 16-21. Show all work! Leave all calculated values in 3 sig. figures.

A B c
.25 -20 15 -10 -5

16. What is the total displacement on an object
that travels fro BroEto @

AT kg -¥q )

17. What is the total distance of an object that
travels from B to Fto E?

'18. What is the average velocity of an object if it
travels from C toGto A in 15 seconds?

0

V= ﬂ.. - 7(‘;' "‘K\ _ -Z\V\*(’qv‘\
& v 1Ss

5

E F ¢ Position (m)
10 156 20 25

19, Whatis the av ; erage ve!oc:ty of an object if it
travels from D to Cto E"n 5 seconds?
i [

—
-
. -

20. What is the average speed of an object if it
travels from A o Cto B in 4 seconds?

G\T%‘l‘ﬁ‘-“fe- YA Y vy
5= e © o {100 N\
A Cz {im
A = U

21. What is the average speed of an object if it
travels from F to D 1o G in 10 seconds?

= Twe . T e (-4 2045
F=?20 =8Bm
O RE 22U



Change the following graphs from one form into the other. (1.2, Position vs. Time to Velocity vs. Time and vice versa.)
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Use the velocity eguation to solve the following guestions. Leave all answers in 3 significant figures.

26. The late befl is about to ring in 5 seconds and Stanley needs to get to homercom on time oy he will end up with
TOC. He travels at a velocity of 2.34 m/s to the LEFT and makes it to his homercom right as the bell rings. If the
homeroom is considered the origin, what was Staniey’s initial position?

- * x- "x.; ‘“ - -
X j ‘5“‘ /& f\l} v-)(ﬂ x-‘ = - ﬂ-Z-%L\MItXS 53-!- OM
(=0 v
Xi =7 D= vEXe

Ve g =5

27. How much time would it take for an object to go from a position of -5.13 m to a position of 14.2 mif itis
traveling at a velocity of 3.12 m/s?

AY =vE - Xi= ~S AT
e % :% Doubke Kg= 12w
v ) ve 52™s
L X=X WL Zea{512)
£ ) Tz, eUsSs

28. What is the displacement of the object below between 0 and 15 seconds? Pay attention to the scale of the axis.

To £wnd i dagecemesstVelocity (mis)
OL\ SoA o‘n'\tc‘i_% = 27
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Unit III Review

Name: KE% Period: Date:

1. Define acceleration.
CHANGE. oF VEWOEDTY ONEE. TCAME

2. Asmall sandbag is dropped from rest from a hovering hot-air balloon. After 2.0 s, how far below the balloon is

the sand bag? o

. Y
o ek
Vi=o N &

t=1s Y= 3L %\‘7‘ (20

aY=?

3. Agumdrop is released from rest at the top of the Empire State Building, which is 381 m tall. Disregarding air
resistance, calculate the displacement of the gumdrop after 1.00, 2.00, and 3.00 s.
Zs

\1=0 ay= 4,_%&{1 \ S, 2-5 5
a< -8t “fs2 sy= L (A8} [ oy=3 (A2 Y3) | ov= L2

4. The flight speed of a small bottle rocket can vary greatly, depending on how well its powder burns. Suppose a
rocket is launched from rest so that it travels 12.4 m upward in 2.0 s. What is the rocket’s net acceleration?

Vi=0"s ay=\kr $at® o (oy-Vied

ﬁY: “Z-l{M Z_ . AY -V:‘t *“J.i_‘\'tl 574 -LL

'l'__‘, =2 2 ;

o7 Z,CA\(-V ) = altl A z,(r?.-tl -0)
_b‘!__* 1* : 7'2

e

5. A ship with an initial speed of 6.23 m/s approaches a dock that is 255 m away. If the ship accelerates uniformly

and comes to rest in 82 s, what is its acceleration? O 6 13
Vi=623 " | PRATRESRS
6%=2S8Sm Ns-Vi -t o
s e =z - bOTGO T
t= 82¢ i = Q 6.076 /s
p V&f“:
=0
\g e

a=" X



Use the graph below to answer questions 6 to 10.

position (m)

6. What is the object doing between points A and B? 4
e e e
7. What is the object doing between points B and C?
Slowv 3 Aova 3"“"":)
8. What is the object doing between points C and D?
Nn'\- NJ:N wxﬂ
9. What is the object doing between points D and E?

10. What is the object doing between points E and F? £,-[/

glomw o\pw\r\ - l"'
% o L

fis\/‘:{-



11. Fill in the chart below.

Velocity Acceleration Description
¥ - Speeds up to the right
- 2 Speeds up to the left
+ = S\owes dowwn 4o ﬁb\/\'\'
. + 2 las dowon Jo e \ebt
0 — Speeds up to the left
O + Speeds up to the left @\t
- 0 Moves left at constant speed
+ (0 Moves right at constant speed
0 0 MCA' MoX W\g
12. Fill in the blank graphs
A &» | - 4 1
AR 00 S g
=5 i v E E
0 —pr 0 I s : > : »
. t : t : t b___.\ t
0 0 5 0 i 0 5
g e o e 8y |
Qio 0 . > 0 ' 0 ‘
' t ' t I t l t
0 | 0 ! 0 ! 0 '



Unit IV Review

Name; Period: Date:

Use the diagram below 1o answer guestions 1-5.

L S

i«»%’@ | 3“? :

e F

1. Draw the x and y component of velocity on each point in the diagram above. In addition draw the resultant on
each point as well. The first point is done for you as an example.

2. Based on the completed diagram, where is the ball’s vertical velocity the smallest?

a A (e e E
F

h. B d. D f.

& n
I o

3. Based on the completed diagram, where is the ball’s resultant velocity the greatest?
¢. C e. E gE. G
d. D £ F @H
4. Based on the completed diagram, where is the ball’s resultant velocity the smallest?

A (e e. E
B 4. D F

a A
b. B

|
T O

a.
b. f,
5. What happens to the horizontal velocity as time elapses?
a. ltincraases
It decreases

@ It remains constant



Unit IV Review

Period: Date:

Name:

Use vectors A, B and C to perform the fellowing functions.

\ ‘y lc

1. A+ B using the Head to tail method. 3. A-B
I <
— - B
A %
4. A-B-C
) “ J?’Q .

Complete the following questions and SHOW ALL WORK.

5. What is the magnitude and direction {angie and description) of the resultant?

------------------- X Y
2-0‘_““" _T‘gz
ZIZ-;‘ b "“0‘0 =
WZ.Bw  -\55
~ 55 0OwA
70 =20
21“'"‘;_ 27 m -
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7 —\& S (_—.W
€= qu{t +(—-‘5’3 n}z

(= sS4 0w




6. A bird flies 45 m directly east and then 23 m directly south. What is the magnitude and direction (angle and
description) of the resultant?

LS w

A= %
=t (%)
& =faw (%\%
274

84t
TP Y

-

£\ l Ys*tr2zt

(= S0.Sw

s0.5m (2 27.4° SHE

7. Aperson standing at the edge of a seaside cliff kicks a stone horizontally over the edge with a speed of 18 m/s.
The cliff is 52 m above the water’s surface. How long does it take for the stone to fall to the water? What is the

. ) s
horizontal displacement of the stone? | o @r A_Zc\{,} | 0\(:\!‘%
X ¥ i .
—lﬁ axs &Y= ~S2w eN=3 L7 bx-’Q‘é)\SZ(c%
" s . \I::%M{‘b t‘;wﬂl‘%‘ﬂkz A= ! 2-5! &X=SE . Tw )
t= =
I Nl L
l l \ Vg Y
- 7 » E=326
Fiin ) 4

8. Ahuman cannonball is shot out of a cannon at 45.0° to the horizontal with an initial speed of 25.0 m/s. A netis
positioned at a horizontat distance of 50.0 m from the cannon. At what height above the cannon should the net

be placed in order to catch the human cannonball? Show ail work,

‘:N \]‘\:q- aL

1
¢ Y 1 \
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s e = (11 t= a3



Unit V Review

Name:

1.

Period: Pate:

" What is the definition of mass?

e ameant oF m“t\er T
N e»\a:‘ec.:\'

What is the standard unit for mass?

o

What is the difference between mass and

_weight?

we‘a\l\+ S 8 Tovee
Moass ™ a w&caam@.ew_;,\:\ esz

-J’TA\-&CLW’\&W\.:{- @'@' JLM&_M

What is tha difference between weight and
force of gravity?

They ave AL some
a "
What is the equation for the force of gravity?
‘Fﬂ = Maj

Name three types of non-contact forces.

a. E—\rm‘l-\i

¢ Eleckrs g}o.-m\.'\'r e

What is inertia?

ThE cestaieance o
aceeleratron

How do you measure inertia?
Masse,

if an object is in equilibrium, what does that
mean?

P Fores add o

2evyo.

10.

11.

12.

13.

14.

What are Nawton’s thrae laws?
. @Iu"\ o‘;*l ec,-\' @ m%‘%" w’s %
Shey € rest ol o\m‘jec"' o

rmotion tendls to sy €
b. N K

Tovee —= a\w-@,r.'\’ \\1 Pg-op.%
acce\erodrun | pMass T
Mvers&\\f prop. T2 aceml .

© For evevy fovee tiaee X

Ava Zequel & oPPoSR.
Z_

What is the agquation associated with Newton’s
second law?

A= <

Ll

What are the action-reaction pairs of forces in
the following situations?
a. A person jumping off the ground.

Tood an veur A
ﬁv"’ﬁb\r\,\c}\- By, Tood

b. A person closing a door by pushing on
the door handle. '

Fovee of owd o el

Fovree of neudle ow howol
c. A person falling to the ground.
ML P"““‘Wﬁ on @ty

What is the normal force and in which direction
does it point?

Fovrce ﬂ\Pq’\‘"eOk oy sucke.ce .
PMlwooays pere. o Pt suclace
What is the force of friction and which way does
it point?

Toree oF vcfrc{—fm-\ SHPOSE S
modron o ponts u??osxk_
o g olmlrm & MO‘\TM _



15. What are the two types of friction and define
them,

a. Sx’*&‘\‘"c erts‘ﬁ—w\—— '
Trvchvronm & o\n\aeu\'s
ot ey |

b. KMQ\‘TL *QVE‘C.\-\TM
Frickemn a,g oB'%-CQJTS

O motrov
16. Which of the following are exarmples of
acceleration? {Circle all that apply)
(a. DAn object speeds up.
(b An object slows down.
@An object changes direction.

17. is the coefficient of friction a scalar or vector
quantity?
Scelee Q\\a &N“QCM

18. Do free-body diagrams include the forces acting
on an object or forces caused by the object?

ML foccey adim
AR, D\Q:Ser_/jr

L-3'e ]

19. When does an object accelerate?
a. When ii has a zero net force acting on
it.
When it has a non-zero net force acting
on it,

20. What is the net force acting on the object below? What is its acceleration if its mass is 35 kg?

(T30

17.1 N i

1
1
i
1
H
1
t
t
H
¥
L
F
k

395N

v i
g
%
k= 5.35ws635 = LN

y=5%.83% 5w 6535 = sap™

A

5.74 " E X 334 g
SF oy 7 T T S e lorels
> = : N 6.2 t%.77
4 ﬂgﬂ oW : Y 5™ -‘1."1'\ 2.0% anes IS Co | MLE 3B
1S ! :
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PER e 5. s 2D SRR S ‘ (= .ON
| - S5 N 254 N LES L toon B2 2
0= 024" @ ye 5.4 sen2es  NETFOE]) o mﬂ‘ 2247
|Z¢C\°T:°N -2.54 n = .ae £ 8 = ‘-("4-&»
Is.on @A Eo Oz 12.2°

21. Draw the remainder of the forces acting on the object. What is the normal force and force of friction acting on

the ohject be!% if the coefficient of kinetic friction is 0.0237 Nﬁ" M me F\"f‘t’}t‘f’""'\-
5sr %15 - e
% 5N 3.0 M FFy=0 = N
s 2.32 37.5° 3. 04N 5—6?::2 i FyrFes +Tay =0 z 0023)(101%}
o k s “ i Tra= *FS—- Fﬁ\;
BOTT N
: - (-zep)- (o)
(T N :
A
XY Gl D)

e I S


nelsond
Pencil

nelsond
Pencil

nelsond
Pencil

nelsond
Pencil

nelsond
Pencil

nelsond
Pencil

nelsond
Pencil

nelsond
Pencil


22. What is the acceleration and normal force acting on the object below? {Ignore friction)

Fy=tdq Aece\eve o

=32{-1 o)

5
“ -313.A2 = =2
C'%‘ﬂ'g 1‘;) - Teax
Y4
Novwnel Force - S\BOM™M
- - - S
Fors B e BS ?w‘f’““ =-5. e M7
A BO N *_54”% e
F:M = *?1:3\
:Fﬁ =B o3 3E f
: ?m-w(-fz:s*'? \3
== 2577 W e

23. What is the force of friction acting on the object below if the acceleration is 3.21 m/s??

% i MM a o %ﬁ_:_}(
e =

_
s T

*‘Fﬁ,ﬁ 2uS g 2T
- VLN

%‘i L2ug tes 27

(26dE20) - 1

2~ 2 1B .



24. If the object below isin equilibrium, what is the tension in the string? (Ignore Friction)

2".?:»& =}

%"“’ %3‘ S &

-\ =BT M
- ‘F'-ﬁ\f = ﬂ}% » ‘ 11N 2 \

= = ALl
25, What is the coefficient of static friction if it requires 23 N t¢ move the cbject below?

TF»

o T h
T e T e T Tesen
P g,*]_%kg-m [ "
L‘i‘)

"Ft) = PAA 9
-{%r‘rg)(f 1)

= BS. B W

Novwal Fovee

£Ey=o
Ry e
o - =T
= (-85.9)
T = ©5. D0




Unit 6 Review

Name: K—E«\'{ 3 Period: Date:

Answer the following questions and show all work whenever work is needed.

1. Give an example of a situation where the everyday meaning of work is being used.
Sudy My foe o test

2. Give an example of a situation where the scientific meaning of work is being used.

P&&L\tﬂt‘ﬁ & (“_w:'.l& QET O, -L*\l\a %W

3. Is tha wark in the following situations positive, negative, or zero?

a. @&-P (C}‘)
b, 4@—‘“—» D
c. (jl,FAL» 3

4, s work done in the following scenarios? Explain why.
a. Greg holds a box of stones above his head for 2 minutes,

Neo - -t T N0 A%?h(_@mmﬁ‘
h. A person reads a sign.

Mo ~ fhive % no Qur‘-d&_ e c}us.? \&cW’}'

c. Charles pushes on a car but it never moves.
No - T & ne drgplacesnt
d. James pulls on a wagon as he pulls it down the road.’
ey~ Thave 7 o forte & drplaceman Yoo i same
5. Define kinetic energy. dovans o .

The entigy assocrakd oo an o\ggfc\‘fs wetie -

6. Define potential energy.

< dpyredd ey,



7. What is the net work done on the object below if it is pulled directly east for 2.5 m?

w,\ah Vm.e“%:cj\ i/\:)-w“\":ta@

13 NA }N. (a2 _M{’Z&:}
o SN b Comaman) G253

d—irk_riy, .—'F:; it
- LR

A

¥

14N,
Fr= 2% (o (&= 222
Fy= 2% s § = $.Ar

8. List 5 different types of potential energy.

.. Cravdedvonel

b. Elaghe
e. Cwawreal
d. o oo
e. Elagtre

9. if object A is 9 kg and object B is 27 kg, what is the ratio of their kinetic energy?

Colre of Masses Redve o T veqf

4 \ /

10. If object A is moving with a velocity of 3 m/s and object B is moving at 3 m/s, what is the ratic of their kinetic
energy?

gk o Vel Xl Redro of Beveyy
2\
3 o @

11. What is the gravitational potential energy of a 34.3 kg object that is 2.13 cm above the ground?
PE nw/kg\ﬂ 2A0BC0A = 3.021% wA

e (3. Bl AU Y ooz o)

=10y
12. What is mechanical energy?

T sum of all bwmahe LALITN and  eladve amd
Qmut%?\{vav\q\ ?aiﬂf\*‘oc‘«t wﬂ\i
Why is

echanical energy not conserved when friction is present?
Frrebron W s Mmedenical enivgy  wte
non- mechanreal amaray.

13.



14. When catching a baseball, a catcher's glove moves by 10 cm along the line of motion of the ball. If the baseball
exerts a force of 475 N on the giove, how much work is done by the ball?

Do = 0 ADw o= Ead

(0 Y 00

= l-r!'Sfff

1%. A flight attendant pulls her 70.0 N flight bag a distance of 253 m aiong a level airport floor at a constant velocity.
The force she exerts is 40.0 N at an angle of 52.0° above the horizontal. How much work is the flight attendant

doing on the bag? Frx UDLOSS2 = |
= 24 (2&\, b .r-a\p.s';?:m\)

16. What@ould a fly with a mass of 0.55 g need in order to have 7.6 X 10° J of kinetic energy?
o - | = ‘3' rz * f
6.5 8 &.000'3?;\&3 ER = eyt 2 y=1 | 2EE
P
Zk‘_E— = ww *

s & \) 1 (et
e

S?,KE Ko 6,000y
‘th:.‘h “‘”S\—g’l \V

Lol w ot “Ye
17. A 25 kg child on a 2.0 m long swing is released from rest when the swing makes an angle of 30.0° with the
vertical.

a. What is the maximum potentia! energy associated with the child?
0?17 1.0 o300 = 12

2.0 LT Bans 0 Tun

~

i i__m_.»m.,g)"‘ B2

b. lgnoring friction, find the child’@ the lowest position. (Conservation of Energy)
ME: = ME&

o ;;E"“ = CEL 4P Ng= W
(D) phawi =3 pasg? (2 l Z(ﬂ %0(0 1)

3 L 6\'\‘ *»W

18. Starting at rest, John pulls on a 32.1 kg crate with a force of 30.0 N at an angle of 23.7° above the horizontal. If
friction is ignored, how fast is the crate going after he pulls the cart directly east for 3.12 m? (Work- Ktneijc

Energy theorem) R TR =30.0 (0% 2377 oz AR O \h(»?"
a0 =275 0o Td= &g = EES

m_.}%ﬂ:_ﬁ _ Vg _.,_i;

T e a2 ) 5 Eeke 0aNs2 Voot ﬁzfmgﬁs i)
W R 17

2.on
2.5v

v




Unit 7 Review
Name: K'E’\-(

Period: Date:

Momentum

1. What two factors impact an object’s momentum?
a. Ma,, 5%

b. \elo ¢ -\'\1

2. Object Ais travelling 3 times faster than object B, but they have the same momentum. How can this be true?

Oject B Must Nave B -toves I mass

3. In1987, Niarlsa Canofoglia, of italy, roller-skated at & record-setting speed of 40.3 km/h If the magnitude of
Canofoglia’s momantum was 6.60 x 16° kgm/s, what was her mass?

wa \ DSOS pq LI N
o A e Yo s T w2
_"ﬁ"“‘
v v - Ll.‘z.“"'fs = ) D
wm= B
\'/

4, The first human-made satellite, Sputnik J, had a mass of 83.6 kg and a momentum with a magnitude of 6.63 x 10°
kem/s. What was the satellite’s speed?

= MV
T 5
TWYN  avre as\ami\) S
F.
V= A peed SO Aiveckran
G oBxio Eﬁ,—:i > wnot wneeded,
ST 5 G \:?a)
S

V= 7930 m/s



nelsond
Text Box
7930 m/s


Impulise

W

What is the definition of impulse?
- P ¢ ™ an oo celrs mmw

—NWM ot fovee and e fwm over WITY A

e
6. How can a small force have a large impulse? Jovee ocks on awn ‘*’3 ect.

T4 acks over a\w\S peried o & Lt

7. How can 3 large force have a small impulse?

T+ acks fov oy o shovt Fang.

8. What are the three equations associated with impulse?

a N = ap
b. . = 'Ff:ut
¢« op= ‘FA’E

9. In 1992, Dan Bozich of the United States drove 2 gasoline-powered go-cart at a speed of 34.9 m/s. Suppose

Bozich appties the brakes upon reaching this speed. If the combined mass of the go-cart and driver is 200 kg, the
decelerating force is 3.60 x 10% NOpposite the cart’s motionyand the time during which the deceleration takes
place is 10.0 5. What is the finallspeedlof Bozich and the go-cart? (mwk\r\kn-u{_ opR. S\BVS

+ v
M= 200k > ne Vg - Fal +waN
Vis B s op= Fat oN =
F =3 Lo XIe" N Ve -P; = Fat \'%- ol 0AN
= WA
£ = \©s Up)-wn; =Fab
N@ -\-Mv: A BN \)Q’Gj-ﬁ»ﬂbx\o‘ ?z(;?k(.wo‘ijj

MV . Falk v v,
\‘?g \‘0.0\ M!s.

10, With upward speeds of 12.5 m/s, the elevators in the Yokohama Landmark Tower in Yokohama, lapan, are
among the fastest elevators in the world. Suppose a passenger with a mass of 70.0 kg enters one of these
elevators. The elevator then goes up, reaching full spead in 4.00 s. Calculate the net force that is applied to the
passenger during the elevator’s acceleration.

TR S (8 ap = Faot
Mz 70.0 ko MY, .My = Fab

X =u.00s ot ot o (%"“"A’* @ "’“;\')

F=" MV
TT T
'F= (le-O bs){ﬂ.? 9) Qa‘ A | U‘?waf'z;

U000 %
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Conservation of Momentum

11. Two skaters inttially at rest push off of each other a
more mass than skater B. {ignore Friction)

. Skater A has two times

a. What is the total momentum of the system before they push off of each other?
C ﬂ——s‘“
b. Do the individual skaters have momentum after they push off of gach other? H

Mes, Py ot bt Mow-xg

¢. Based on your answers from parts A and 8, how is momentum conserved?

W vl WADNY ™M a??asﬂ-t o\iwc\'raws .
Thivefove. cviz,v:\%«.s&-) waowk , <& “Hae oo © .

d. When comparing the magnitude {ignare direction) of the two skater’s momentum after they push off of
each other, which of the following statements Is true?

do you know?

i. Skater A has more momentum than skater 8.

ii. Skater B has more momentum than skater A.

ev have the same momentum,

WHY? “Twere MOWMLA YU A S Ml}.,g"‘ (‘_CUA.CQ\ Q&-J‘. m&m
Jorir mowuntums must-be egquel awd opeomte.

12, A student stumbles backward off a dock and lands in a small boat. The student isn’t hurt, but the boat drifts

away from the dock with a velocity of 0.85 m/s to the west. if the boat and student each have a mass of 68 kg,
what is the student’s initial horizontal velocity?

&w-c:,f"?":t Bekowe Pk e o Pi =P

(@ MeNz7T = (M.¥M‘)\5§-
e W L e o =
o < ={iF SR CQRIONT

T3 *, .
Boak = S\Sjeat ¥ 4 NE (e -vﬁp%)(:-a.as'u{q_)

- G B>
ek 2 .
‘Perseonn ™ a\a\f‘}" Noy ==\ .7 e
13. A 50.0 g shell fired from 2 3.00 kg rifle has a speed of £00.0 m/s. With whaoes the rifle recoil in the

opposite direction? PPy Wo d-ﬂ'@.e.l'ﬂ:m nteded m
Belore o m\’ Mligr Moy  OASWET

- May
<= 0= MQir MeVz g Ve P
- AL N !
ae MaVzt = (o800
.(5'5'0%3 -— M'L\lz,{. = M\“\@ 3

B¥s oo /3 o > - A
—e— > . : =667 s
.
© @ 6.7 ™




Kinetic Energy and Conservation of Momentum

14. What are the tree different types of collisions and explain what ha;ﬁpens for each one.

2 BElaatie - Obiechs beunce o~ wo dedorwmodion

b. m\a_g\—(c_u o\u'i{t.\’% boumce o&‘% - ALCBV‘M (CMM% 6\'\&?&\)
¢ ‘Pe.retck’k\( omelashe - eljedts etk %%LM

15. In which of the collisions is momentum conserved?
AN ph T
16. In which of the collisions is kinetic energy conserved?

clashe © V\'\\!

17. There was a domestic cat in Australia with a mass of 21.3 kg. Suppose this cat is sitting on a skateboard that is
not moving, A 1.80 x 10 kg treat is thrown to the cat. When the cat catches the treat, the cat and skateboard
move with a speed of 6.00 x 107 m/s. How much kinetic energy is dissipated in the process? Assume one-
dimensional motion.

Betore A-dle— .
Treds

o — ——tp,
L Goxw —5%

109) 203 keey Ve (.00 = M

o & ’

- PP S
I T A TN

MM EQ\‘\‘MLB“‘&,
M M.,
s (l poxie” & 2L (6 m\‘lﬁ"")
RO
\f"?.\.‘ousﬁ' |'\'|'
ArE =¥E; _¥E; pral enevay DA TWL

= K} CRLUNYY f—l - K.é M N ;.’——j ooy vt &y
[y oweds) L (ooxnaey’)
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Unit 8 Review Part A

Name: KE"Y Period: Date:

1. A 985 kg car is driving on a circular track with a constani speed of 25.0 m/s. The circumference of the track is 2.75
km.

3. Why does a passenger in the car feel pulled toward the outside of the circular path?

Thae, ?a.-a:;«am@cr cqm’t% -‘*m Meavel T a s-’n-qr\ujk\- Ly \accau.%t o@

Hatr tnertoa.

b. Describe the force that keeps the car moving in a circle, identify what causes the force and explain which
direction it points.

m Q‘wm \?u.\.\ww\ jﬁv‘t Cor cvtwndh D e erele Te, m\\f.& -\M cw‘#\p&\&.\
denees Frru\’m\ Y Ca._usm 4‘\\% gmrc.-e_ omcl '{*'Pomjfs vy J(\'«-L

Cewde v
¢. Find the centripetal acceleration of the car. Which way does this acceleration point?
L
T Z5.0 Ly
T q%m/ 2 Jowacd Y cenler

d. Find the centripetal force on the car. 5 (th&c'irﬁ -

; MV ? A4S N 25 - Aot :RH‘C;\ 4 l*—Q

T = 22 = Q——.X__,q% lHoS . & —> {0 W ke v

e. Why does the front passenger get pushed into the door?

Samt. as part () Twudm,

2. Determine the change in gravitational force under the following changes.

a. i one of the masses is doubled the force s ©0 W\PM 2)‘ P bm’* \y \
k. # both masses are doubled the force is Qbkadr M(‘D\tol\ . S Prog or e
c. if the distance between masses is doubled the force is 7‘-1 MW\UZ g

d. if the distance between masses is halved the force is QM&V&? lﬂ.& 55\“'&&

a. If the distance between masses is tripled the force is \/ “ e




3. Manipulate the following equation for mass. 4. Manipulate the following equation for radius.

5. Manipulate the following equation for mass. 6. Manipulate the following eqguation for radius.

[ \rtzt (.}1 ﬁ“‘;).ﬁ’




7. As an elevator begins to descend, you feel momentarily lighter. As the elevator begins to stop, you feel momentarily
heavier. Explain the sensations you feel,

9:% %&e&ua\}rvr Aescends e 3 a 'SM“'EF
wovwael dovee  amdd e Q’—'Le_\w-s ok Waavy  ov \Pj\m"r i,

baseh o b novmal fove . P bt 2levedrer \Q.af)wxs
Yo shop . normal fovee ™ \aura&r.

8. A 45,0 kg satellite is in a circular orbit around Earth with an orbital radius of 4.23 % 10’ m. Earth’s mass is 5.97 x 10%
kg. Calculate the following:

0.0 Teworek Xie cewker

a. the magnitude of the gravitationa!l force on the satellite

Y
b. the period of the sateliite’s orbit . LLRIO 4

A,
¢. the orbital speed of the satellite __ 2+©7 K4o% ( 5

d. When measuring the radius what points do you use? . ('Q'V""\&“. -‘ro Q(_\A-Sc(;{'
BA, WA, 3 " M
a:\) T::S: G"g“"';‘;i 9 T= 2% (& m _‘)\S.\:— I&:T. r

ez @St Ys ko™ PPN CE D A
'%: G o™ v-:; (?{E@Kmﬁ — )E\) TeZa TR 0_“)(‘5_,“&@34) \[5;"" ol TRICS W i T:to.?
% . =L SAID
T Rbxipis
= jJO.6 et —
y= | N Ves 2077%0° M

9. What does the mass represent in the previous manipulations? MLL‘.:‘I) O'Q *{U* ("UJ\\“F&&\ C‘%B{‘C‘t .

10. Pluto’s moon, Charon, has an orbital period of 153 hours. How far is Charon from Pluto? (M. = 1.30x10% kg)

L anpy e 5 (I,
153 Wre X ' we © AWM S.S\Ktbgs @Mc (%t‘) =Y

1
—— " k3
ARV -~ 3 3 e \3/ G g Cé’%}
My = l.“soxtbm\gs e G
& 2 f{( Yisova) 5.5\ x5 \*
) - AaTPRID X. o
Cl..)i m 3 r=\ [ R\ 25
% Enwn
x3 .t

&M . T_ 5 -
11. What are Kepler's three laws? LE?F) (v

a. ?l&.\"hﬁ-’f& rQ‘Dk\Dl-O Q\\\\?‘\‘Tm\ *pﬁ.'\‘\’k%

b A s Avaewn va -\'\0\ ?\c...m:\ o e sSun u‘)l\\ SLoee P o;.q.*

Ulu.ca\. VLol TV .eatbm.\ ﬂmcm‘\} a'c ‘\‘M

c. m DAL a-g Q P\W:l\"s ‘aurTbA V3 P*ro-?or'lﬂ‘mc.,\ ""h’a m

ot ot o redrus, T 2
RET RS



Chapter 11 Review

Name: Pariod: Date:

1. At what point does the spring mass system, shown at the right, have the following?
a. Minimum Velocity

A B C
A C
b, Maximum Force
AC
c.  Minimum Acceleration
>
d. Maximum Velocity
B
e. Maximum Acceleration
A, C
f. Minimum Force
>
2. A pendulum with a mass of 0.100 kg was released. The bob of the pendulum returns 1o its [owest point every
0.10s.
a. Whatisits period? ::,
- ':,rr‘
T:-ms \.““‘ :':'ro '.alab
uos“’"‘

b, What is its frequency?

&= “%'- - 327 S Ha
3. The frequency of a pressure wave is 1.00 % 10” Hz. its wavelength is 3.00 m. What is the sneed nf the wave?

=L = (oo $Y200a) = 200 ™Yy
4. What is a transverse wave? Give an example. | |
B rhand. whost F-u-\-n\-c v B2 “?er?ewﬂ.rc.ukc-r A ‘\'U«-D- motan o4
-+ wavt . Ex: Diean Lot

5. What s 2 longitudinal wave? Give an exampie.
A el mope Pastizles MOV Pad

e wene. Ex. Soumch Lsane

6. How is period related to frequency?

Pertad 15 tha cecdprzes\ o5 Grequency

' J‘_OMI devechron ot



7. dentify the following parts of the diagrams on the right,
3. (owipyess A

b. cht-cxc'\mv\

UD&\JC.\'&W:)&(“\ C’Q
. (rest
- NOTHITN A

‘T?ouj\r\
: pﬂv\? W “tuo{Q

8. Define the following terms.
a. Frequency
% sR eycley pev second
b, Wavelength
Tt drsteance Vo bwe tdanbreal CoMsecudne Pomtke
c. Period

The b v ont yele

d¢. Amplitude. . |
mm Avz pleu et [N eﬁ\u‘;\.\\or‘fu.m

9. What are three tests for simple harmonic motion?

a. '\:ae_rmddc. UV L TN

(s
H

j=

W

-

o0

b. F?.Ls.‘\t'»r w-f) Lo <,
c. @e_svkm-wrj Q?wu‘: :«‘5 f?fz:? or’ﬁ‘zma\ ‘\b C}\\"SP\C& ¢ e
10. Find the length of a pendulum that oscillates with a frequency o qC & = ﬁ = T= ((c *25“5}

S L T L T\ =20
_I:r- '243‘ ";\"5 s, -ZL‘-T)'L': '::‘” .9\0) = GLj (,E—;T) .‘:ﬁ,&{"‘él .

11. what is the spring constant for a spring that stretches 0.25 m to the right with a 15 N force?
ax —2 (&) Lo SN o
¢ Tk NI
Tove ¢ C : ket
Spracdy = | . =
v L -
12, What is the wavelength of 3 wave travelling at 246 m/s with a frequency of 210 Hz?

ye £




Displamement fm)

‘0‘6 -

ok Bt sl

osithen [m)

I

T—
Cisplacadmant [m)

Use the waveforms on the feft to identify
the values for the following.

Pericd: H.AD >
Wavelength: 1,10 #A

Frequency: = {1\ Wz

L
T
Amplitude: 9 =7,0 ¢

DHsplacement (m}

. SN

blsplacediont ff o3

Use the waveforms on the left to identify
the values for the following.

Period: |.S0s

Wavelength: |\ \ O v

Frequency: -%ﬂ = 3567 la!(%

Amplitude: 6.20 ar
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